ths 193 Zo] F4o] 09l FA Y Al 79
Hkz2]29] Zlolo] H]7} 1 : 2 : 30|t} o] o,
T ol o5 Lozl Al B2 A, B, C9

Hol ol ulg Fotoier, @

it

vV V¥
0z
i
—_
w
o

Al @e] JE1E9] Zol9 HZ7F 1 : 2 : 30]E= Yol HE
12:22:32=1:4:9
S A:B:C=1:(4-1):(9-4)=1:3:5




th-& 1 ¥o)A AB//DE, AE//DF ¢ t, A
EF 9] Zo]& oot

B\ E F C
8em 6 g ”

B\

AABC ©|A] AB//DE ©|22 CB : EB = CA : DA 7} 59,
AE //DF ©o]2& CA : DA = CE : EF 7} "t}
u}2t4 CB: EB = CE : EF ©]E& 18:8 = 10 : EF, 18EF =

80, EF = %(cm) o] L2t}




3. Tt ¥4 AD // EF //BC &
o, x,y ] &= 2=t = A=t

it

v V. v Vv
02
on on
W
A
rr
| ©

0z
i
—_
o

6:8=x:6,8x=36..x=4.5
6:14=(11-8):(y—8), 6y—48 = 42,6y = 90
SLy=15




oh2 A2t ABCD oAl AE = CE 7}
2 HEE ¥, AE = AF 7 HEE J
A F S e W, oAECF 9 gl 7ot \
ofzt.

» E cm?

> HehD 20cm?

CE = x(cm) 2} 5FH
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(x+3)% = x? + 62
X2 +6x+9=x>1+36
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27 9
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[> HED 16.8cm

~&B

AABD 94 BD = 15(cm) ©]t}.

AP xBD = ABxAD °|E &,

AP = 7.2(cm) ©|t}.

AADP &} AABD & H-2o|B2

PD: AD = AD : BD 94|

AD’ = PDxBD ©|2& PD = 9.6(cm) |t}
w2t AP + PD = 7.2 + 9.6 = 16.8( cm) ©]t}.
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218 AA1Z+9 ABCD & 4 B 71 A
Do x5 H2 Aot} o3 7] F &4
B2 A7
H7]
@ AA’ED = ACDF © ED =DF
© ABEF = ADEF ® AB =BC-DF
@ CD +CF =BF
ONQN®! ONQNE) ® O 6
@ © e ®e o
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@ED =FD,CF = A'E,CD = A’D |22 AA’ED = ACDF

= DF , ED = BF ©|2& ABEF = ADEF




26. thg 19e AB = BO 9 Azto| Sz}
Bo] oS FF & A& Ao 3]
7} BC o 53 D o A7 gL Aolct
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® /AEF =90°
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@AAEFEADEF
® AE =EC
@ AF = AE

® /A # /C

@ /AEF = /DEF ©]A|gt 90° & o}t},
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29. t}&3} Zo] AB ¢ PQ ¢ DC 7t Badata
AB=18,PQ =12 < d, x 9] 7t-2?

D 24 @ 30 @36
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S5 1
BC:QC=AB:PQ o2&

PQ:CD =BQ:BC

12:x=1:3

x =36
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31. tZ 1% 9 nABCD °|4 AD//EF//BC, AE: EB = 2: 3 0|1,
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12 18 24
@ gcm @ —om ©) & om
@ 7 om ® 6cm

AABC o4 AABCOAAEQ ©|E2 EQ:15=2:5, EQ =
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AABD 9|4 AABDOAEBP ©|E2 EP : 6 =3:5, EP =
2 (em)
. 1 12
PQ:EQ—EP:6—€8:€(cm)
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34.
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U5 183} o] 19 ¢to] Y& BeFl IR &2 FolA &
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@APBD = APCD
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ADOF ©2 ADBC o] B2

OF:BC=DO:DB=2:5
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A
B H C
@ AB:AC - BH:CH (@) sABC oaHAC
® /C = /BHA @ /B =/ACH

@G)AH’ = BExCH

AABC ©OaHAC o4l AB: AC = BH: AH
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ShH,

i) DG = 2EF = 4(cm)
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SeHZ AB: BC=AD:CA A 8:16 =AD: 12

- AD = 6(cm)
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(12 -x)

s x=4(cm)




